5. Exploded View & Part List

5. Exploded View & Part List
5-1. LA32C400E4 Exploded View

POO1A

INVER

5-1-1. LA32C400E4 Parts List

Location No. Code No. Description & Specification Q’'ty SA/SNA | Remark
FOO1A BN96-12733U | ASSY COVER P-FRONT;LC400 32,SO,ABS+PMMA, 1 SA
PANEL BNO07-00807A | LCD-PANEL;LTF320AP08,SSCYPZ,8bit,32,16.7 1 SA
INVER BN81-04166A | A/S-INVERTER LTF320AP08;LTF320AP08 1 SNA
T0101 BN61-05996A | BRACKET-WALL;LC650 40,SECC,T1.2 4 SNA
PO01A BN44-00338A | DC VSS-LCD TV;P2632HD_ASM,P2632HD_ASM,AC 1 SA
MO0014 BN94-03925W | ASSY PCB MAIN;LA32C400E4XXV 1 SA
T0910 BN96-13341A | ASSY BRACKET P-STAND LINK;LC530 32,SECC, 1 SA
SPO1A BN96-12975B | ASSY SPEAKER P;16ohm,4pin,5W,L:600 R:240 1 SA
RO01A BN96-12737U | ASSY COVER P-REAR;LC400 32,50,PCM T0.5,B 1 SA
MO0027 BN96-12870A | ASSY STAND P-BASE;LC350 32,ABS+PMMA,HB,B 1 SA

5-1



5. Exploded View & Part List

5-2. LA32C400E4 Parts List

Service Bom (SA: SERVICE AVAILABLE, SNA: SERVICE NOT AVAILABLE)

Level | Location No. Code No. Description & Specification Qty |SA/SNA| Remark
LA32C400E4XXV
0.1 M0216 BN90-02527A ASSY STAND;LC350 32 1 SNA
.2 MO0027 BN96-12870A ASSY STAND P-BASE;LC350 32,ABS+PMMA,HB,B 1 SA
) M0126 BN73-00052B RUBBER-FOOT;42Q9,c9,CR Rubber Gray,T3.0 SNA
) 0103-005096 RESIN-ABS;HB,ABS+PMMA 493.89 | SNA
e} BN63-06688A COVER-STAND BASE;LC350 32,ABS+PMMA,HB,BK SNA
) T0524 6902-000241 BAG PE;HDPE/NITRON,T0.5/T0.012,W600,L600 1 SNA
] BN63-04755N COVER-SHEET;32LC350,PE,T0.05,W180mm,200M 0.6 SNA
) BN74-00052A TAPE-PAPER;LB530,Crepe Paper,0.17mm, 10m 0.05 SNA
0.1 RO0O1A BN90-02857E ASSY COVER REAR;LC450 32 1 SNA
.2 M0081 6003-001003 SCREW-TAPTYPE;BH,+,B,M4,L12,ZPC(BLK),SWR 13 SA
.2 RO01A BN96-12737U ASSY COVER P-REAR;LC400 32,SO,PCM T0.5,B 1 SA
] AH358 BN61-06544A HOLDER-REAR;LC650 32,PP,BLK 1 SNA
) T0OO71 BN64-01487A INLAY-TERMINAL;LC400 32,SO,PS SHEET,T0.5 1 SNA
) T0139 BN65-00003A CLAMPER BAG;42C7,LDPE,HB,BLK 1 SNA
e} T0527 AAB8-03772A LABEL SERVICE;ALL,SAVINA,TETRON PAPER,TO 1 SNA
) MO0006 BN63-06392G COVER-REAR;LC400 32,SO,PCM,T0.5,BLK 1 SNA
0.1 BN90-02914C ASSY COVER FRONT;LC450 32 1 SNA
.2 FOO1A BN96-12733U ASSY COVER P-FRONT;LC400 32,SO,ABS+PMMA, 1 SA
) MO0081 6003-001003 SCREW-TAPTYPE;BH,+,B,M4,L12,ZPC(BLK),SWR 4 SA
.3 AB326 BN61-04661A BRACKET-STOPPER;L650,SK-5,T0.4,Plating,H 2 SNA
) MO0125 BN96-13046D ASSY BOARD P-TOUCH FUNCTION&IR;LN32C450, 1 SA
.3 CIs1 0203-001598 TAPE-FILAMENT;#8915,0.15,12,55000,CLR 0.05 SNA
) W391 6003-000275 SCREW-TAPTYPE;BH,+,B,M3,L10,ZPC(BLK),SWR 4 SA
) BN60-00162Y SPACER-FOAM;FOAM,50000mm,Dark Gray,0.35T 23 SNA
.3 BN61-04692A BOSS-PRIMER;#94,clear,35cps 1.5 SNA
) BN61-04731B BOSS-TAPE;AMBER,ACRYL,T1.1,W12.0mm,WHITE 0.6 SNA
.3 CCM1 BN63-04755A COVER-SHEET;AMBER,PE,T0.05,W150mm,200M,6 3.2 SNA
) ADO070 BN64-01486A DECORATION-BOTTOM;C400 32",PC,CLEAR 1 SNA
) 0103-005045 RESIN-ABS;GY0133,HB,ABS+PMMA 467 SNA
.3 BN61-06138A HOLDER-BOSS BOTTOM;LC450 32,ABS,HB,WT003 1 SNA
) F001 BN63-06502U COVER-FRONT;LC400 32,SO,ABS+PMMA,HB,GY01 1 SNA
.3 M0006 BN63-06503A COVER-REAR SUB;LC450 32,HIPS,HB,BK0020 1 SNA
) BN81-00116F RESIN;ABS HB,WHT,HF-0680U,W91902,-,-,- 104.1 SNA
) BN81-02031A RESIN;HIPS,HB,4440 Natural 0.076 SNA
.2 SPO1A BN96-12975B ASSY SPEAKER P;160hm,4pin,5W,L:600 R:240 1 SA
0.1 BN91-04885A ASSY LCD-AMLCD;BN07-00807A 1 SNA
.2 PANEL BNO7-00807A LCD-PANEL;LTF320AP08,SSCYPZ,8bit,32,16.7 1 SA
.3 INVER BN81-04166A A/S-INVERTER LTF320AP08;LTF320AP08 1 SNA
0.1 BN91-06014D ASSY SHIELD;LA32C400E4XSQ 1 SNA
.2 TO081 6001-002284 SCREW-MACHINE;BH,+,M4,L8,ZPC(WHT),SWRCH1 13 SA
.2 T0081 6001-002604 SCREW-MACHINE;BH,+,M4,L10,ZPC(WHT),SWRCH 2 SA
.2 M0081 6003-001003 SCREW-TAPTYPE;BH,+,B,M4,L12,ZPC(BLK),SWR 7 SA
.2 M2893 BN39-01267A LEAD CONNECTOR;LA32B450,UL 2651 AWG#26,1 1 SA
.2 M2893 BN39-01274A LEAD CONNECTOR;LC5F,UL 1007 #26,14P,80mm 1 SA
.2 POO1A BN44-00338A DC VSS-LCD TV;P2632HD_ASM,P2632HD_ASM,AC 1 SA
.3 BN81-04732A A/S-FUSE;250V, 5.0A,FS801S, FS804S 1 SA

5-2




5. Exploded View & Part List

Level | Location No. Code No. Description & Specification Qty |SA/SNA| Remark
.3 BN81-04740A A/S-M;600V, 10A,QP801S,BN44-00338A 1 SA
) BN81-04776A A/S-PWM CONTROL IC;ICB801,BN44-00338A SE 1 SA
.3 BN81-04777A A/S-PWM CONTROL IC;9-DIP, ST,ICM801 1 SA
.2 MO0523 BN96-12973A ASSY BRACKET P-WALL;32,37,40,LC650,SECC, 4 SA
.3 T0101 BN61-05996A BRACKET-WALL;LC650 40,SECC,T1.2 4 SNA
) BN60-00188B SPACER-FOAM;LCD,FELT,20,3.0,20,Center : 4 SNA
.2 MO0230 BN96-13227A ASSY CABLE P-FFC;LA32C450,FFC,1mm PITCH, 1 SA
.2 SGO03A BN96-14880A ASSY STAND P-GUIDE;LC450 32 1 SA
) T0920 BN61-06139B GUIDE-STAND;LC450 32,ABS HB,BK0020 1 SA
.3 BN81-01975A RESIN;ABS HB,BK07,HF-0680U,H/GLOSSY,HF-0 147.26 | SNA
.2 BN96-15749A ASSY HOLDER P-INLET;LC530,ABS,V0 1 SNA
) 0103-004627 RESIN-ABS;VE-0812/K2901,BK0020,V0,ABS,No 4.66 SNA
.3 BN61-06441A HOLDER-INLET;LC530,ABS,V0 1 SNA
.2 SBO5A BN96-13989A ASSY BRACKET P-STAND LINK;DP,BN96-13341A 1 SNA
.3 T0214 0203-001269 TAPE-OPP MASKING;#301,T0.06,W75,L50000,N 0.07 SNA
) 6902-000604 BAG WRAPPING;LDPE,T0.02,W500,L10000,TRP, 0.22 SNA
) MO040 6922-000003 BAND PP;PP,T0.8,W18,L1650M,TRP,DA69-9014 0.04 SNA
) AA61-30009A LOCKER-BAND,CLIP;SPC-1,18MM T0.5 1 SNA
.3 T0603 AAB9-02446L PALLET-SET;43W6,PAPER,1105,625,120 1 SNA
.3 AAB9-04727B MASTER CARTON;CB,DW,585,530,310,100g 1 SNA
.3 AAB9-04765C PAD-PLATE;CB,SW,575,520,100g 1 SNA
.3 AABI-04779K PAD-CROSS;CB,DW,575,95,100g 1 SNA
.3 AAB9-04779L PAD-CROSS;CB,DW,520,95,100g 1 SNA
.3 T0910 BN96-13341A ASSY BRACKET P-STAND LINK;LC530 32,SECC, 1 SA
) BN61-02429K STUD-PEM;PNB,M3.8,D7,L14.9,ZPC(SIL),SUM2 2 SNA
4 MO0115 BN61-06024A BRACKET-STAND LINK;LC550 32",SECC,T1.2 1 SNA
4 BN61-05281A HOLDER-CLAMP;LCD,NYLON 66,WHT 2 SNA
0.1 MO0017 BN91-06019U ASSY CHASSIS;LA32C400E4XXV 1 SNA
.2 MO0014 BN94-03925W ASSY PCB MAIN;LA32C400E4XXV 1 SA
.3 0202-001608 SOLDER-WIRE FLUX;LFC7-107,D0.8,99.3Sn/0. 0.025 SNA
.3 3701-001480 CONNECTOR-DSUB;15P,3R,FEMAIL,STAMPED PIN 1 SA
.3 HBO1A 3711-004531 HEADER-BOARD TO CABLE;BOX,10P,1R,2mm,ANG 1 SA
.3 HBO1A 3711-006715 HEADER-BOARD TO CABLE;BOX,4P,1R,2.5mm,AN 1 SNA
.3 3711-007302 HEADER-BOARD TO BOARD;BOX,18P,2R,2mm,ANG 1 SA
.3 JA330 3722-003038 JACK-PHONE;7P/1C W/L,SN,BLK 2 SA
.3 3722-003051 JACK-PIN;3P WI/L,NI/SN,YEL/WHT/RED,STRAIG 1 SA
.3 JA333 3722-003052 JACK-PIN;5P+Shield W/L,NI/SN,GN/BL/RD/WH 1 SA
.3 ETO1 BN40-00142C TUNER;HTM-8B/23B5S,HTM-8B/23B5S,PAL B/G, 1 SA
.3 T0066 BN62-00042A HEAT SINK-ES;30*30*5,Ceramic,T1.5, TAPE 1 SNA
.3 MO0412 BN96-11826C ASSY BRACKET P-PCB;LB450 40,SPTE T0.5 + 1 SNA
A BN61-04928C BRACKET-SUPPORT PCB;SPTE,T 0.5,SCREW-M4 1 SNA
b BN61-05262B HOLDER-BOSS PCB;52,LB550(EO),PBT+G/F(30% 1 SNA
.3 BN97-04775Q ASSY SMD;LA32C400E4X 1 SNA
b DSO01A 0401-000116 DIODE-SWITCHING;MMSD914T1,100V,200mA,SOD 5 SA
4 DS01A 0401-001056 DIODE-SWITCHING;MMBD4148SE,100V,200mA,SO 12 SA
A D1 0401-001099 DIODE-SWITCHING;1N4148WS,75V,150mA,SOD-3 1 SA
b D0254 0402-000553 DIODE-SCHOTTKY;SS24/B240,40V,2000mA,DO-2 1 SA
4 0403-001052 DIODE-ZENER;RD8.2MB,7.7-8.7V,200mW,SOT-2 1 SA
b 0403-001779 DIODE-ZENER;MMSZ5234BT1G,5.89/6.51V,500m 5 SA
4 0403-001783 DIODE-ZENER;BZB84-C6V2,5.8/6.6V,300mW,SO 6 SNA
A D0254 0404-001020 DIODE-SCHOTTKY;BAT54C,30V,200mA,SOT-23,T 2 SA

5-3



5. Exploded View & Part List

Level | Location No. Code No. Description & Specification Qty |SA/SNA| Remark
4 D0254 0404-001404 DIODE-SCHOTTKY;BAT721C,40V,200mA,SOT-23, 1 SA
4 T0139 0406-001200 DIODE-TVS;RCLAMP0504F,6/-/-V,150W,SC-70 1 SA
4 Q101 0501-000445 TR-SMALL SIGNAL;KTC3875S-Y,NPN,150mW,SOT 9 SA
A CEQ2 0505-000110 FET-SILICON;2N7002,N,60V,115mA,7.50hm,0. 5 SA
4 Q409 0505-002560 FET-SILICON;A06415,P,-20V,-3.3A,0.150hm, 1 SA
4 IC112 1103-001310 IC-EEPROM;24L.C02B,256X8BIT,SOIC,8P,3.91X 2 SNA
4 IC112 1103-001385 IC-EEPROM;AT24C256,256Kbit,32Kx8,SOP,8P, 1 SA
) IC115 1107-001777 IC-FLASH MEMORY;MX25L6405DMI-12G,64Mbit, 1 SNA
o4 T0085 1201-002849 IC-AUDIO AMP;DRV603,TSSOP,14P,5x4.4mm,DU 1 SA
) T0124 1201-002993 IC-POWER AMP;TAS5715,HTQFP,48P,7x7mm,DUA 1 SA
4 1203-004364 IC-VOL. DETECTOR;RT9818C-42PV,SOT-23,3P, 1 SA
4 1203-006013 IC-DC/DC CONVERTER;A0Z1031AI1,S0O-8,8P,4.9 1 SA
4 T0087 1203-006135 IC-POSI.FIXED REG.;AP1117D-33-GZ-13-89,T 1 SA
o4 1C012 1203-006138 IC-POSI.ADJUST REG.;AP1117DGZ-13-89,TO-2 1 SA
) 1203-006142 IC-DC/DC CONVERTER;BD8924G,5P,2.9x1.6x1. 1 SA
4 IC012 1203-006239 IC-POSI.ADJUST REG.;AP1117EGZ-13-89,SOT- 2 SA
4 1205-003201 IC-BUS SWITCH;TC7WB125FK,SSOP,8P,2x2.3mm 3 SA
4 1205-003479 IC-SWITCH;TPS2051BDBVR,SOT-23,5P,2.9x1.6 1 SA
4 1C109 1205-003695 IC-LCD CONTROLLER;SEMS03-LF,PQFP,296P,32 1 SA
) 1405-001233 VARISTOR;30Vdc,5A,1.6x0.8x0.8mm, TP 9 SA
4 1405-001271 VARISTOR;20Vdc,5A,1.0x0.5x0.6mm, TP 1 SA
4 DR1 2007-000043 R-CHIP;1Kohm,1%,1/10W,TP,1608 2 SA
4 PR6 2007-000072 R-CHIP;470hm,5%,1/10W,TP,1608 2 SNA
4 ZPR3 2007-000106 R-CHIP;220Kohm,5%,1/10W,TP,1608 1 SA
4 R105 2007-000138 R-CHIP;1000hm,5%,1/16W,TP,1005 58 SA
A4 AR49 2007-000140 R-CHIP;1Kohm,5%,1/16W,TP,1005 2 SNA
4 MR306 2007-000141 R-CHIP;2.2Kohm,5%,1/16W,TP,1005 3 SNA
4 R319 2007-000143 R-CHIP;4.7Kohm,5%,1/16W,TP,1005 13 SNA
A4 R104 2007-000148 R-CHIP;10Kohm,5%,1/16W,TP,1005 44 SA
4 HDR2 2007-000151 R-CHIP;15Kohm,5%,1/16W,TP,1005 6 SNA
A4 MR36 2007-000153 R-CHIP;22Kohm,5%,1/16W,TP,1005 4 SNA
4 Rz07 2007-000156 R-CHIP;30Kohm,5%,1/16W,TP,1005 4 SA
A4 DR39 2007-000162 R-CHIP;100Kohm,5%,1/16W,TP,1005 1 SNA
A R509 2007-000170 R-CHIP;1Mohm,5%,1/16W,TP,1005 1 SNA
4 R111 2007-000171 R-CHIP;00hm,5%,1/16W,TP,1005 15 SNA
A4 HDR17 2007-000172 R-CHIP;100hm,5%,1/16W,TP,1005 1 SNA
4 R338 2007-000173 R-CHIP;220hm,5%,1/16W,TP,1005 20 SNA
4 UR23 2007-000174 R-CHIP;470hm,5%,1/16W,TP,1005 12 SNA
A4 MR39 2007-000242 R-CHIP;1.5Kohm,5%,1/16W,TP,1005 1 SNA
4 PPR2 2007-000343 R-CHIP;1200hm,1%,1/10W, TP,1608 1 SA
4 KR7 2007-000402 R-CHIP;1500hm,5%,1/10W, TP,1608 1 SA
o MR9 2007-000455 R-CHIP;18Kohm,1%,1/10W,TP,1608 1 SA
4 FR6 2007-000536 R-CHIP;2000hm,1%,1/10W,TP,1608 1 SA
A4 R38 2007-000640 R-CHIP;2700hm,1%,1/10W,TP,1608 1 SA
4 2007-000736 R-CHIP;30Kohm,1%,1/10W,TP,1608 1 SA
4 R19 2007-000763 R-CHIP;3300hm,1%,1/10W,TP,1608 1 SNA
b DR37 2007-000932 R-CHIP;4700hm,5%,1/16W,TP,1005 8 SNA
4 R3505 2007-000950 R-CHIP;470hm,5%,1/4W,TP,3216 3 SA
A4 2007-001237 R-CHIP;9100hm,1%,1/10W,TP,1608 1 SNA
4 2007-001285 R-CHIP;5.60hm,5%,1/16W,TP,1005 2 SA
4 OTR1 2007-001292 R-CHIP;330hm,5%,1/16W,TP,1005 8 SNA

5-4




5. Exploded View & Part List

Level | Location No. Code No. Description & Specification Qty |SA/SNA| Remark
) R326 2007-001325 R-CHIP;3.3Kohm,5%,1/16W,TP,1005 3 SNA
4 R1 2007-002425 R-CHIP;10hm,5%,1/10W,TP,1608 5 SNA
) TR30 2007-007009 R-CHIP;750hm,5%,1/16W,TP,1005 7 SA
) R365 2007-007107 R-CHIP;100Kohm,1%,1/16W,TP,1005 5 SNA
) 2007-007136 R-CHIP;4.7Kohm,1%,1/16W,TP,1005 1 SNA
) DR4 2007-007142 R-CHIP;10Kohm,1%,1/16W,TP,1005 3 SNA
4 2007-007297 R-CHIP;1100hm,1%,1/10W,TP,1608 1 SA
) 2007-007318 R-CHIP;1Kohm,1%,1/16W,TP,1005 2 SNA
A 2007-007319 R-CHIP;3900hm,1%,1/16W,TP,1005 1 SNA
) 2007-007334 R-CHIP;200Kohm,1%,1/16W,TP,1005 1 SNA
4 R8 2007-007721 R-CHIP;5600hm,1%,1/10W,TP,1608 1 SA
4 2007-007766 R-CHIP;2Kohm,1%,1/16W,TP,1005 1 SNA
) PRN7 2011-001011 R-NETWORK;10Kohm,5%,1/16W,L,CHIP,8P,TP,3 2 SA
A DARO09 2011-001262 R-NETWORK;220hm,5%,1/16W,L,CHIP,8P, TP,2. 10 SA
) AD480 2203-000204 C-CER,CHIP;100nF,10%,25V,X7R,2012 1 SNA
4 PC43 2203-000233 C-CER,CHIP;0.1nF,5%,50V,C0G, TP,1005 4 SA
4 C258 2203-000236 C-CER,CHIP;0.1nF,5%,50V,C0G, 1608 2 SA
.4 C706 2203-000239 C-CER,CHIP;0.1nF,5%,50V,C0G,2012 2 SNA
4 C395 2203-000260 C-CER,CHIP;10nF,10%,50V,X7R,2012 1 SNA
) RC34 2203-000280 C-CER,CHIP;0.01nF,0.5pF,50V,C0G, 1608 2 SA
A4 C254 2203-000438 C-CER,CHIP;1nF,10%,50V,X7R,TP,1005 7 SA
4 C507 2203-000489 C-CER,CHIP;2.2nF,10%,50V,X7R,TP,1005 4 SA
A4 MC9 2203-000627 C-CER,CHIP;.022nF,5%,50V,C0G,TP,1005 2 SNA
4 JC31 2203-000715 C-CER,CHIP;3.3nF,10%,50V,X7R,1608 4 SNA
) DC25 2203-000812 C-CER,CHIP;.033nF,5%,50V,C0G,TP,1005 8 SA
4 AD480 2203-000995 C-CER,CHIP;.047nF,5%,50V,C0G,TP,1005 3 SA
4 AD480 2203-001412 C-CER,CHIP;0.03nF,5%,50V,NP0,TP,1005 2 SNA
A4 AD480 2203-002285 C-CER,CHIP;10nF,10%,50V,X7R,1005 3 SNA
A4 AD480 2203-002525 C-CER,CHIP;0.56nF,10%,50V,X7R,TP,1005 6 SNA
) DC108 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 4 SC
A4 AAC1 2203-005249 C-CER,CHIP;100nF,10%,50V,X7R,TP,1608 9 SNA
4 TE3 2203-005261 C-CER,CHIP;1000nF,10%,25V,X7R,TP,3216 1 SNA
4 AD480 2203-005968 C-CER,CHIP;4.7NF,10%,50V,X7R,TP,1005 3 SNA
4 AD480 2203-006104 C-CER,CHIP;1000nF,10%,50V,X7R,3225 1 SA
4 AD480 2203-006126 C-CER,CHIP;47nF,10%,16V,X7R,TP,1005 16 SNA
A4 C102 2203-006158 C-CER,CHIP;100nF,10%,16V,X7R,TP,1005 67 SNA
o4 AD480 2203-006307 C-CER,CHIP;1000nF,10%,25V,X5R,2012 2 SNA
4 AD480 2203-006336 C-CER,CHIP;10000nF,10%,25V,X5R,3216 7 SA
4 C125 2203-006361 C-CER,CHIP;10000nF,10%,10V,X5R,TP,2012 19 SC
4 C234 2203-006378 C-CER,CHIP;4700nF,10%,6.3V,X5R,TP,1608 10 SNA
4 AD480 2203-006460 C-CER,CHIP;2200nF,10%,16V,X5R,1608 1 SA
4 HDC11 2203-006562 C-CER,CHIP;1000nF,10%,10V,X5R,TP,1005 6 SNA
4 AD480 2203-006841 C-CER,CHIP;1000nF,10%,16V,X5R,TP,1005 1 SNA
A4 AD480 2203-006992 C-CER,CHIP;0.33nF,5%,50V,C0G,TP,1005 4 SNA
4 AD480 2203-007176 C-CER,CHIP;10000nF,10%,16V,X5R,TP,2012 8 SNA
4 VL6 2703-000398 INDUCTOR-SMD;10uH,10%,3225 8 SA
i T0052 2703-001778 INDUCTOR-SMD;3.3uH,20%,3225 2 SA
4 T0052 2703-003149 INDUCTOR-SMD;2.2uH,20%,5050 1 SA
b 2703-003296 INDUCTOR-SMD;47uH,10%,2012 1 SNA
4 X202 2801-003773 CRYSTAL-SMD;12MHz,30ppm,28-AAN,20pF,500h 1 SA
A F103 2901-001506 FILTER-EMI SMD;5V,0.13A,0pF,2x1x0.5mm, TP 2 SA

5-5



5. Exploded View & Part List

Level | Location No. Code No. Description & Specification Qty |SA/SNA| Remark
4 DR32 3301-000314 BEAD-SMD;1200hm,1.6x0.8x0.8mm,-,-,- 2 SNA
4 T0568 3301-001186 BEAD-SMD;6000hm,3216,2500mA, TP,5530hm/93 4 SA
4 T0568 3301-001236 BEAD-SMD;600hm, 1608 3 SNA
4 T0568 3301-001404 BEAD-SMD;300hm,2012,TP,15.90HM/30MHz 19 SA
4 T0568 3301-002039 BEAD-SMD;26ohm, 1608, TP 7 SA
4 3701-001591 CONNECTOR-HDMI;19P,2ROW,FEMALE,SMD-S,AU 1 SNA
4 AC510 3708-001150 CONNECTOR-FPC/FFC/PIC;30P,1mm,SMD-A,SN,Y 1 SA
) BN41-01526A PCB MAIN;Lola3 LC400,FR-4,4,1.0,1.2,192x 1 SNA
A R111 2007-000171 R-CHIP;00hm,5%,1/16W,TP,1005 1 SNA
) 2007-001168 R-CHIP;750hm,5%,1/4W,TP,3216 1 SA
4 D0254 0402-000553 DIODE-SCHOTTKY;SS24/B240,40V,2000mA,DO-2 1 SA
4 0403-001785 DIODE-ZENER;NZH5V1B,4.94/5.2V,500mW,SOD- 1 SA
) R319 2007-000143 R-CHIP;4.7Kohm,5%,1/16W,TP,1005 1 SNA
o4 AD480 2203-007176 C-CER,CHIP;10000nF,10%,16V,X5R,TP,2012 1 SNA
) AD480 2203-007270 C-CER,CHIP;10000nF,10%,10V,X5R,TP,1608 1 SNA
4 AD480 2203-007270 C-CER,CHIP;10000nF,10%,10V,X5R,TP,1608 2 SNA
4 T0568 3301-001404 BEAD-SMD;300hm,2012,TP,15.90HM/30MHz 2 SA
) 0202-001477 SOLDER-CREAM;LST309-M,D20~45um,96.5Sn/3A 3 SNA
o4 1105-002127 IC-DDR2 SDRAM;K4T51163QI-HCE7,512Mbit,32 1 SA
) BN97-04978A ASSY MICOM;T-LL40MEAM-1000.0,L400,ASIA,1 1 SNA
..... 5 IC115 1107-001777 IC-FLASH MEMORY;MX25L6405DMI-12G,64Mbit, 1 SNA
.3 3722-003088 JACK-USB;4P/1C,NI/PD/AU/SN,GRY,STRAIGHT, 1 SA
.3 0202-001463 SOLDER-WIRE;LFC2-W3.0,-,03,99.79Sn/0.2Cu 2.708 SNA
.3 0204-002420 SOLVENT;1M-1000,C3H70H,96 3.37 SNA
) 0204-002607 FLUX;DF-234U,13%,14KG,Gravity 0.82 2.192 SNA
0.1 BN92-05534A ASSY P/MATERIAL;LC450 32 1 SNA
.2 T0524 6902-000358 BAG PE;HDPE/NITRON,T0.015/T0.5,W900,L700 1 SNA
.2 T0524 6902-001048 BAG PE;LDPE,T0.05,W160,L300,TRP,4g 1 SNA
.2 T0246 BN69-04452A CUSHION-01,SET;LC450 32",EPS 1 SNA
.2 MO040 6922-000003 BAND PP;PP,T0.8,W18,L1650M,TRP,DA69-9014 1.01 SNA
.2 6902-000622 BAG SHEET;HDPE/NITRON,T0.015/T1.0,W1000, 1 SNA
.2 BN74-00008D TAPE-OPP MASKING;OPP,T0.05,W75,L800M,CLR 2.32 SNA
0.1 BN92-06375J ASSY BOX;LC450 32 1 SNA
.2 BH68-00662A LABEL BOX-00;ALL MODEL,MOJO 90G,60,110,W 1 SNA
.2 BN69-04612U BOX-SET;32LC400,CB,A-01,SW2,YEL,W1008,D1 1 SNA
0.1 BN92-06441W ASSY LABEL;NEW MODEL 1 SNA
.2 T0527 AAB8-00340A LABEL-WARRANTY;20mm,75mm,WHT 1 SNA
.2 T0527 AA68-00364B LABEL-00,SERIAL;ALL MODEL,A/P 90G,60X30 1 SNA
.2 BN68-02554B LABEL-LCD-POP;L450(32/26),PET,T0.05,100, 1 SNA
.2 BN68-02915A LABEL-00,RATING;CCTV,93,TETRON PAPER,TO. 1 SNA
0.1 ACCE1 BN92-06764C ASSY ACCESSORY;LA32C400E4XXV 1 SNA
.2 ACCE4 BN96-15533S ASSY ACCESSORY-MANUAL;LA32C400E4XXV 1 SNA
.3 AAB8-03753A MANUAL FLYER-05,WARRANTY CARD;SAVINA,Vie 1 SNA
.3 BN68-03143L MANUAL USERS-IB;Comm,Samsung,Vietnamese, 1 SNA
.3 BN68-01402P MANUAL-PANEL CLEANING GUIDE;LCD/LMON/PDP 1 SNA
.2 ACCE2 BN96-15573C ASSY ACCESSORY-CABLE;LA32C400E4XXD 1 SNA
.3 T0268 3903-000456 CBF-POWER CORD;DT,EU/KR,CP3,IEC320 C13-R 1 SA
.3 T0120 4301-000121 BATTERY-MN;1.5V,R03,10.5x44.5m,HOLDER,7. 2 SNA
.3 T0524 6902-000361 BAG PE;LDPE,T0.05,W400,L240,TRP,8,2,8.00 1 SNA
.3 REMO2 BN59-01003A REMOCON;TM940,SAMSUNG,20PIN SINGLE,39KEY 1 SA
.3 M9889 BN63-01798B CLOTH-CLEAN;cloth,180,200,sea blue,ToC 1 SNA

5-6




5. Exploded View & Part List

Level Location No. Code No. Description & Specification Qty |SA/SNA| Remark
.3 T0527 BN68-00513A LABEL-E,PASS;ALL MODEL,YUPO(110G),50X15, 1 SNA

.3 BN96-01800K ASSY ACCESSORY-SCREW ZIPPER;10 LCD-TV,60 1 SNA

! T0081 6002-001294 SCREW-TAPPING;BH,+,,M4,L16,ZPC(BLK) 3 SA

) T0524 6902-001169 BAG PE;LDPE,T0.1,W60,L60,Sealing 1 SNA

5-7



	5. Exploded View & Part List
	5-1. LA32C400E4 Exploded View
	5-1-1. LA32C400E4 Parts List

	5-2. LA32C400E4 Parts List


